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Candidate #s from given puzzle (‘as is’, with no reduction)
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Puzzle #14687B - Redneck 6D sujoCube, 1 April 2015 (73ip-8-8)
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Unique’l’ in Row 1 @ col 5
Unique'8 inRow 5 @ col 1
Unique’2’ inCol 1 @ row 1
Unique’4’ inCol 5 @ row 9

Unique’2 inBlock 1 @ R1C1
Unique’'3’ in Block 6 @ R5C9
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Unique’2’ inRow 1 @ col 1
Unique'4’ inRow 9 @ col 5
Unique’5 inCol 1 @ row 9
Unique’3 inCol 9 @ row 5
Unique’'1’ in Block 2 @ R1C5
Unique’'5’ in Block 7 @ R9C1
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Unique’9 in Row 1 @ col 9
Unique'5 inRow 9 @ col 1
Unique’8 inCol 1 @ row 5
Unique’6’ in Col 9 @ row 9

Unique’9’ in Block 3 @ R1C9
Unique’'4’ in Block 8 @ R9C5
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Unique’3’ in Row 5 @ col 9
Unique’'6’ in Row 9 @ col 9
Unique’1’ inCol 5 @ row 1
Unique’9’ inCol 9 @ row 1
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Unique’8 inBlock 4 @ R5C1
Unique’'6’ in Block 9 @ R9C9



